PRACTICE

1. Write the domain and range of the relation in set builder notation. Is it a function? Explain.

2. The function g has a domain of {-10, -5, 5, 15, 25} and a range of {3, 9, 11}.
Could g be represented by {(-10, 3), (-5, 3), (5, 3), (15, 9), (25, 11)}? Justify your answer.

3. Write the domain and range for the linear function in interval notation.
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4. Write a situation for the given graph.
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5. For which relation is the range {1, 2, 3,4, 5}?
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DAILY REVIEW

1. A seamstress opens a dress shop. Her fixed costs are $5000 per month, and it costs her $25 to make a
dress. If the price of each dress is $150, what is the minimum number of dresses she has to sell per
month to make a profit of $3000?

Solve each of the equations for the indicated variable.

X+y 3. y=xyz-5b forb 4, 2x-3y=8 forx

2. =5 fory




PRACTICE

‘1. Write the domain and range of the relation in set builder notation. Is it a function? Explain.
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2. The function g has a domain of {-10, -5, 5, 15, 25} and a range of {3, 9, 11}.
Could g be represented by {(-10, 3), (-5, 3), (5, 3), (15, 9), (25, 11)}? Justify your answer.
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3. Write the domain and range for the linear function in interval notation.
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4. Write a situation for the given graph.
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5. For which relation is the range {1, 2, 3, 4, 5}?




DAILY REVIEW

@ A seamstress opens a dress shop. Her fixed costs are $5000 per month, and it costs her $25 to make a

dress. If the price of each dress is $150, what is the minimum number of dresses she has to sell per
~ month to make a profit of $30007
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Solve each of the equations for the indicated variable.

p— @ x;y=5 for y

®y=xyz—5b for b 2x—3y=8 for x
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